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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x8=8

oo i eeTEe Oeq A e

(a) Whatlis supply ?
@R e

(b) Mention one cause of shift in demand
_curve. » ‘

DI (N ISR b i B 1.
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(c) Choose the correct answer :
ST 1s a/an (direct/indirect)
tax.

s Tedn! Ay TEedl ¢
GST (R 90! __ (OF / 2ICArF) T |

(d) Mention one canon of taxation as given
by Adam Smith.

@mﬁﬁﬂawmaﬂmmmmﬁs?

(e) Fill in the blank :

NDP at factor cost is (Domestic
Income/National Income).

AT 53 7_ T 3

TsimH FTe NDP (27 (=1 e /
NG ) |

() What is ‘ex-ante’ savings ?
‘ex-ante’ ALY [F?

(g) Write True or False :

When demand is perfectly inelastic,
elasticity of demand (eg) 1s zero.

a7 (o Qo &S
piiTiR ZeZ7iFel (ey *I77 2T |
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(h) What is the main cause of |
unemployment according to Keynes ?

(T3 WCe el TR Y o [

2. Answer any six of the following questions :
2x6=12

oore WAl [ewicar 55T 2R Teg ol ¢

(aq) What is opportunity cost? Give a
suitable example.

. Wﬁmﬁﬁ?«ﬂﬁﬁquml'

(b) Write two key characteristics of
monopoly that distinguishes it from
perfect competition.

OFEHORI IGRE 7O G A @Ry SrEe
Rz = eferiisroneEe e 71 AT 74T
T | ‘ -
(c) Define ‘primary deficit’.
‘i w5’ el ol |
(d) Why is production possibility curve
(PPC) concave to the origin ? Explain.

Beove BRI @41 (PPC) a0 «fRm -
SRree G U1
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(e) Point out two differences between
capital accounts and current accounts
of balance of payments.

TR TSR e Rplel S sfTe RieE
e 7o iy e |

(f) Define producers’ surplus.

Teovee IR A@ &l

(gl Suppose GDP is Rs. 5,000. Domestic
residents receive factor payments from
abroad of Rs. 250. Foreigners receive
Rs. 100 as factor payment from this
country. What is the value of GNP ?

¥91 2’5 Rs. 5,000 (2% GDP | 9541 ST
Ro™R #i41 Rs. 250 @i IR OIS RO
3 (713 ¥ Rs. 100 S5 I | GNP I &7
e 239 '

(h) Define multiplier.
L oo g feral |

‘(i) Mention any two reasons behind shift
in aggregate demand (AD) curve.

AT ifEw (AD) (R BNIGS RCHe 7! |
T T 9|
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() Define purchasing power parity (PPP)
with example.

WWW*T%W (PPP) ¥ it=al fwat |

3. Answer any four of the following questions :
| Sx4=20

oS Al enpTEa iz sIfAbre Bee Bl g

(a) Distinguish between National Income
and Domestic Income.

TN ST i T SR ALy

(b) - State and expléin the central problems
of an economy.

QI LTI @@ﬂmﬁmwaﬂﬂn
WWI ‘

(c) Explam the characteristics of perfect
competition.

o AfSTaIfarerTeT TR QFHTPTIE T 1 |

(d) Explain direct taxes and indirect taxes
and mention two merits and two
demerits of both the taxes.

mmmmmﬂnwm%ﬂﬁm
i SEIREl S 9 |
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(e) How is market demand curve derived
if two individuals have different demand
curves for the same product ?

QF4RR @61 AETR afs I gaRisl fes
fenwram pifzvl @<R 3% z1, (org 9N
FiTm @A Rw@ sifde 23 afq =111

(f/ Explain average propensity to consume
(APC) and marginal propensity to
consume (MPC) with the help of a
suitable diagram.

ST (Si9 2ol (APC) ©IiF: 2ifes ceis 2ast
(MPC) €%l 951 T2IJ& ba AQTS A7 T4 |

(g) Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

TR ool oIF T AR o2
e |

(h) Derive the formula of income elasticity
of demand. If income elasticity of
demand is negative, what does it
signify ?
bifzviR o foziveer a Rdwed <) af
NIEGE R RB RISk Eas) Rt H, (o0 B
< e
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4. Answer any two of the following questions :
-10x2=20

oote ol fieerear gbr 2R Ted ol ¢

(a) State and illustrate the law of demand
using demand schedule and demand
curve. What are the exceptions of the
law of demand ? ; 6+4=10

Bifew! RiECG! | ifamt Sepio! S Sifzal (@2
Wmﬁmﬁﬁaﬂﬁmwmﬁmﬁﬁaw
& &2

(b) Describe Keynes’ General Theory of
Employment and Income with the help
of a diagram.

ﬁm—@ﬁﬂ%mﬂwwm
wgorR [Raad

(c) ' Nafrate the steps involved in estimation
of national income by Expenditure
Method of national income accounting.

. What are the precautions to be
undertaken in this method ? 6+4=10

AT = AR I 2@ Rieq AvTwoPTRI
fRg=e i xﬂ?ﬂﬁ?—a’aa?ﬁmmm
ﬁiﬁs?
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(d) State the two conditions of equilibrium
of any firm. Explain how equilibrium
price and output are determined in a
competitive market. What explains the -
efficiency of market equilibrium ?

2+7+1=10
7ol fordl | @49 ARSRITONETS TGO (T

S 19 S Seolivd R 39 7@ g
T | IO T (IS A 9 7A?

(e) Illustrate Progressive, Regressive .and

Proportional Taxation with diagrams.
4+3+3=10

BTy, TR, SR S Seifos
ISR IS [N
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